Circles – Quiz 3
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1.
The circumference is 120
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r = __________

2.
How far will a wheel of radius 9 cm travel in two revolutions?


Give you answer to the nearest centimeter.


Distance travelled = __________

3.
r = 18 cm
4.
Arc length of 
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Arc length of 
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r = __________

5.
If the diameter of the moon is 3475 km and an orbiting lunar station is circling 21 km above the lunar surface, find the distance travelled by the lunar station in one orbit. Give your answer to the nearest kilometre.

6.
Exactly how far does the tip of a 6-cm minute hand on a clock travel in 40 minutes?
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